
 

• PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN • PNEUTOOLS, INC • 1600 CENTURY CENTER PARKWAY, SUITE 108   MEMPHIS, TN   PNEU TOOLS, INC • 11474 GULF STREAM  ROAD • ARLINGTON, TN 38002  • www.pneutools.net • 1-888-689-2529  



 

Item Part No. Description Item Part No. Description Item Part No. Description 

1 820648 
Hex. Socket HD. Bolt 

M5x25 
37 841715 Pushing Lever 72 841846 Shaft Ring 

2 841833 Top Cover 38 841678 Washer 73 841847 Nail Guide Shaft 

3 840899 Warning Label (A) 39 841840 Grip Rubber 74 841848 Adjuster 

4 841834 Exhaust Cover (B) 40 841841 Gasket (D) 75 841849 Adjuster Spring 

5 841684 Protector 41 841842 Cap 76 841850 Bolt 

6 841683 Body Guard 42 841843 
Hex Socket HD Bolt M5x16

(10pcs) 
77 841851 Nail Guide 

7 841688 Gasket (F) 43 920320 Dust Cap 78 841728 Lock Shaft 

8 841835 Gasket (G) 44 940620 Air inlet plug 3/8" 79 841729 Guide Lock 

9 841685 Exhaust Valve 45 831025 Roll Pin D3x30(10pcs.) 80 841730 Roll Pin D3x10(10pcs.) 

10 841836 Head Cap 46 841702 Plunger Spring 81 810818 Spring 

11 841689 Piston O-ring 47 830235 Plunger O-ring 82 841733 Main Stopper Spring 

12 841690 Piston( H) 48 841703 Plunger (A) 83 830641 
Hex. Socket HD. Bolt M4x6

(10pcs.) 

13 841691 O-ring (S-65) 49 841704 Valve Bushing 84 841852 Roll Pin D3x10(10pcs.) 

14 841692 Cylinder O-ring 50 830305 O-ring(S-12) 85 841731 Main Nail Stopper 

15 841693 Cylinder Plate 51 820313 Valve Packing 86 841732 Nail Stopper 

16 841694 Cylinder 52 841707 Urethane Ball (c) D7.14 87 920556 Sub Stopper Spring 

17 841695 Cylinder Ring 53 810540 Valve Plate 88 841734 Nail Guide Cover 

18 841696 Cylinder Spring 54 820351 Trigger Valve Bushing 89 841853 Magazine Cover 

19 841697 Cylinder O-ring (A) 55 820364 Trigger Plunger 90 841854 Holder Cap 

20 841698 Cylinder Guide 56 830235 Trigger Plunger O-ring 91 841855 
Machine screw M4x50

(10pcs.) 

21 841699 Cylinder O-ring (B) 57 810402 Trigger 92 841856 Spring Washer M4(10pcs.) 

22 841837 Warning Label 58 841705 Plunger (B) 93 841857 Washer M4(10pcs.) 

23 841709 Housing Body Assembly 59 841706 Valve Rubber Cover 94 841858 Holder Shaft 

25 841710 Cylinder O-ring 60 841737 O-ring(P-9) 95 841859 U-Nut M5 

26 841700 Piston Bumper 61 841739 Feed Piston O-ring(I.D.14) 96 841860 Sleeve 

27 841701 Bumper Sheet 62 841738 Feed Piston 97 841861 Ratchet Spring 

28 841711 Gasket (A) 63 841740 Feed Piston O-ring(I.D.11) 98 841862 Nail Holder 

29 920365 
Hex Socket HD Bolt M5x8

(10pcs) 
64 841837 Gasket (E) 99 841863 Magazine 

30 841721 Guard 65 841838 Feed Piston Cover 100 841864 Pin 

31 841871 Nose 66 841743 Magazine Bushing 101 841865 Nylon Nut M4 

32 841713 Nose Guard 67 920170 
Hex. Socket HD Bolt 

M5x10(10pcs.) 
102 841866 Magazine Guard 

33 841714 
Nylock Hex. Socket HD 

Bolt M5x16 
68 841720 Feeder Spring 103 841867 Plate Nut 

34 841716 Spring 69 841845 Feeder (A) 104 841868 Guide Base 

35 820688 Safety Bolt 70 841719 Feeder Shaft 105 841869 
Hex Socket HD Bolt M5x14

(10pcs.) 

36 841717 Nut M5(10pcs.) 71 820051 Feeder Shaft Ring 106 841870 Shingle Guide 

  PNEU TOOLS, INC • 11474 GULF STREAM  ROAD • ARLINGTON, TN 38002  • www.pneutools.net • 1-888-689-2529  


	RF45T Schematic
	RF45T PartNumbers_rev01_09072021

